H & 0l & AHS B Ml A

SA: THEHOHA
g AAoige AN
el 2R 29 (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
RHitok & 1t 52,661,745 52,650,079 11,666
= 10,584 10,584 0
z 15,653,000 15,653,000 0
= 1,354,000 1,354,000 0
< 5,081,649 5,071,649 10,000
i 30,562,512 30,560,846 1,666
NI e IRt DN 300,588 310,588 10,000
= 3,084 3,084 0
L= 28,064 28,064 0
z 269,440 279,440 10,000
g 24 300,588 310,588 10,000
= 3,084 3,084 0
< 28,064 28,064 0
= 269,440 279,440 10,000
OlHIZ XIS HIE ZXIAS 0 10,000 10,000
401 AIEHIZL 20| 0 10,000 10,000
01 Al&€HI 0 10,000 10,000
SHHIZASME XA J1= & 0 10,000 10,000
RH =2 TH 32,440,421 32,472,421 232,000
z 15,478,000 15,478,000 0
< 1,743,177 1,783,177 10,000
z 15,219,244 15,261,244 A42,000
THoH 22l AL 32,440,421 32,472,421 A32,000
z 15,478,000 15,478,000 0
< 1,743,177 1,733,177 10,000
i 15,219,244 15,261,244 A42,000
Kiahoer Ared 557,020 599,020 A42,000
& 110,373 110,373 0
z 446,647 488,647 A42,000
206 M=Hl 0 42,000 A42,000
01 THZ=HI 0 42,000 A42,000
oZ==off il =2 XM 38 0 0 42,000 A42,000
Mot = 152,600 142,600 10,000
< 79,000 69,000 10,000
i 73,600 73,600 0
401 AIEHIZL 20| 61,000 51,000 10,000
< 40,000 30,000 10,000
i 21,000 21,000 0
01 Al&€HI 61,000 51,000 10,000
oMl SSA 22& 1] FHIAY
& 40,000,0002 %100 2 40,000 30,000 10,000
< 40,000 30,000 10,000
HRES (&) 2,921,163 2,867,497 53,666
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SA TR b
I WReS(Herd )
¢el: BMXIE (Gt H2)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
RSP 2,504,840 2,451,174 53,666
LFSPNES 2,504,840 2,451,174 53,666
802 gtet=0|Et 2,504,840 2,451,174 53,666
01 =NE2XSEHES 1,613 1,608 5
©20238 RIHHHHSSEE(0IX)
4,040 5 0 5
02 Al - THIE XSS 2,503,227 2,449,566 53,661
o20234 RIHHUSSE S (01
2,020 3 0 3
o20234 QtMEoR 2E 2 XIAA (01X
ZE) 557,290 558 0 558
o20234 AUt AFSE & AHEEF(
OIRFZE) 1,430,670& 1,431 0 1,431
o023 =% 2RI WHAI(0IXHLE)
38,700 139 0 139
o023 =& NZAIE EXIAIE(0IXZE)
1,487,650 1,488 0 1,488
c20284 = FHoNS AEE S SN
OIRFZEE) 393,520 3%4 0 394
<2021 2L CCTV =OHEX| & MAta LHR Al
A8 2Z(0IZES) 6,344,400 6,345 0 6,345
o214 NEEME BBLAH ZAIALE
= (0IRHELE) 43,189,540 43,190 0 43,190
o2021E LAIS LHE Y= P (0INES
) 112,020 113 0 113
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